Warm-up
Find the pattern and write the next three terms.
1.2,4,6,8,10, lz , |14 , \¢ pattern:
Add 2
2.1,4,9,16,25, 6 , 24 | Y4 pattern:
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3.-2,4,-8,16, -3, &4 ,-12% pattern:
S LR \93 Z
4.1/2,1,3/2, 2, 5/9\ , % e pattern:
PAS /3 |







Sequences and Series

/

-Ordered list of - Sum of a sequence
humbers

‘Notation: a. - Notation: S, or) -

Can be finite (122 ) or infinite ( L234...)



Sequences and Series
2 types:

Arithmetic: Pattern progresses by
adding/subtracting (Common difference)

Geometric: Pattern progresses by
multiplying/dividing (Common ratio)



Equation for Arithmetic Sequence:
I / Gn:01+(n'1) d

"“&‘“5 a,is the n™" term of the sequence

algpedQ\'C a, is the first term
e d is the common difference
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pExamples

M
1. Write the HEKVREWM of the sequence. Then
write a rule for the ath term.

rct.r_r-4, -3,-2,-1,.. B 16591215 =
Qn = O\\ +(ﬂ-—l
th ¢
[an =4 +{o-() N
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2.
a. Write a rule for the nth term of the
sequence 32, 47,62,77, ... Then find al2.

b. Write a rule for the nth term of the
sequence 3 , 1,3/2, 2, ... Then find al2.

ﬁ(o =2 {0 =
Qva~ o



Arithmetic Series

Equation for arithmetic series:

[ 91*9n '
m -—
2@)' = ST '
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2;) & S, is the sum of the first nterms of the series |
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Examples oo 2

1. Arithmetic series: 20+18+16+14+ ..
Find the sum of the first 25 terms.
Ggs = Q0 +(35-)(2)=-2%
0\ +0\r\ =28
S&b—n = a5( &= (2)-—‘100

2. Arithmetic series 100+110+120+130+....
Find the sum of the first 18 terms

ql% — ]OO g (\%‘DOO) — a’7o

Sig = \BCOO;QQ 2,520




Sigma Notation of a Series
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2.(_32 _|_4) = (56







4. 2(50—1/1)
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